Calcular Porcientos (H)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 8,627 es
3,278.26?

. ¢Qué porciento de 1,125 es
866.25?

. ¢Qué porciento de 4,589 es
2,340.39?

. ¢Qué porciento de 4,528 es
2,037.67

. ¢Qué porciento de 9,589 es
3,164.37?

10.

. ¢Qué porciento de 9,605 es

2,689.47

;Qué porciento de 2,157 es
1,251.067?

;Qué porciento de 2,125 es
1,636.257?

;Qué porciento de 1,920 es
1,017.6?

;Qué porciento de 9,743 es
2,922.9?
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Calcular Porcientos (H) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 8,627 es
3,278.26?
38%

. ¢Qué porciento de 1,125 es
866.25?
77%

. ¢Qué porciento de 4,589 es
2,340.39?
51%

. ¢Qué porciento de 4,528 es
2,037.67
45%

. ¢Qué porciento de 9,589 es
3,164.37?
33%

10.

. ¢Qué porciento de 9,605 es

2,689.47
28%

;Qué porciento de 2,157 es
1,251.067?
58%

;Qué porciento de 2,125 es
1,636.257?
77%

;Qué porciento de 1,920 es
1,017.6?
53%

;Qué porciento de 9,743 es
2,922.9?
30%
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